3 18






3.

5969 A

@D 10

Zu)4=7} 30 0]t} 59 62 ZH|Z=7} ofd

@ 30

® 60

@ 90







5. of® 457 2 tHeglEy Fol 5 o], U7} 3 olglet o] 55
4 2 gl mho] Rl

@D 1 @ 2 3 3 @ 4 3B 5



Os 5 s A2 BF 271

@ TXTXTXTXT=T7%5
O xXxxXyxxxy=x>xy>
© 4x4=2*

® 2x3x3x3x2=22+33

1 1 1 3
— — *:SX*
®5><3><5><5 53

® 07 @ 17 ® 370 @ 4 7

® 570




@ 60=3x4x%x5

=922 x 32

® 36

@ 105=3x5x%x7

® 98=2xT7?

3 120 = 23x3x5



8. 28 3} oF40] T} BE S

D 24 @ 70 3 49 @ 72 B 63






@ 3,11

2 B% 12wy (P2 )

3 8,10

® 12,15

® 9,16



11. 90, 2* x 3 x 5% 9] HUgF4=?

@D 2x3x5 @ 22x32x5 B 22x3x52

@ 23x3x%x52 B 23 x32x%x52



B=2x33x5x11

22x32x5x%x7,

A=

® 18 ® 21 @ 30 ® 45

@D 6



13, Ab#t 26 7Hoh 2 31 42 D 4 Sl T2 WL ojdlolSolA Exo]
o] el e ARThe 2 77 H5 st 22 5 7k BEt,
ofglol= W % WeI7p

D 39 @ 49 B® 69 @ 8= G 129



=

14. 71229 Zdol7} 6cm, A=2] A7 8cm, =°]7F 12cm ¢ Z-SHA
Ropo] WES WIEI0] BolA F1 2L BSA RS WEAL

T2 2 1. BA

St oluf, A oF A dol=?

-

D 24cm ® 32cm 3 48 cm @ 50cm B 54cm



® 8 3 10 @ 12 B 15

D 6



16.

540 o) 713 2he 2pA%
gk of | 4



17.

7}2 9] Z0o]7F 90cm, A2 2] Z o7} 144ecm 1 ZAME moFo] ¥ o

#2371 AAAE RO Bede HIEgle] £ol AL ot st
S

2 g ol el o] @ wlel ol = em o]ofof SH=7R?
E R EEROEELS

® 18cm, 35 7N @ 12cm, 35 7N @ 18cm, 40 7

@ 12cm, 40 7} ® 15cm, 30 7H



18.

o TR o] k] Aol7t 300m , Al
2o] Zol7}k 210m < AAZHY Bge] go
=l QAT FAO R RS Ao T
. ¥l B5olofle REEA] g Alojok skl

_-300m-~ _ _

\
\

210m
!

/

U 7hedt & AA e & off, Eedt o] OseE?

O 32 1% @ 34 1%

@ 38 1% B 40 1=

® 36 15



HA =

S

_#OT
N

;oT
X

_#OT
N






